€ 6. WHEBEZTDTST

1 rRoOENZNDEZERDSL.

a) logy32= §
c) log, ro - 2
4
e) logs5 = [
1
g) logs 3= I

RDTD x BRDEK.
2) logyx = 3 x-2"=8

(8] log, M =r, log, N =s EBEM =a’,

RDBDEDDTEHDEE ZFTHRE K.
a) log,(M x N) =log, M +log, N

lo;a(MxN#&gu(a'”xag)
B ) &aaaws
=F+5

= /&jml"/’f )&)ja/\/

c) log, M" =nlog, M
ﬁoga/('f” :&/a(ﬂr)n
_ ijﬂ\ ﬂLY‘I’)

= Y'n
:ﬂlemM

2015 FERIE XHERRASRIEE (17) OKEE2ER)

b) logys5= =
d) log,16 = 2
f) 10g4 2= E‘

h) logg v2 = JE

g
b) logex = - .= 4'%—{2-
354
d) logy;x =3 X =27=3
= 19683

N =a° ERED. COCECEBEENENRLT

M
b) log, (ﬁ) =log, M —log, N

'M?
&ja(’ﬁl"i) = I?Dolaﬁﬁ‘g)

%
:,&fa 4)”5
=y-3
:‘/éoja/(’("—é?jAA/

PRES: K%

(4] p=log,2. g =log,3ETDEE, RDE% p, q TRE.

a) log, 8 = QﬂOja? =3p b) loga18=,€0j&\2 —1—2/@&3 = P*Zi

c) loga12=2Zo;A?. *bfo‘th -2p+% d) log,1.5= /@jh; = g”;b

5] mOB2DNETERL.
2 = —
a) logz%—log2%= /@j; B‘jojl4*/€o;z)+[ojz?’ /

b) %Iog35—log3%_5—= —'Z//é@'j;g" %2,255' *’l’/&;;g = |
) log2(3+\/§)+log2(3—\/§)= /,9‘77_(31” (E)Z> :[ojz('L -2

d) 3logs 15 —logs 135 = ;(on5;+joj5 5 - wﬂjsg «,%/f;g) =9

(6] mOBLDWEBBCEE. J
a) %loglo 125 + logyg % —log;p0.3 = Kojm (/‘53)3 'f’/éo;,o 2 ",&jmg ’/pf?;/a 3 '@,0/0) = /

A B C_ (Ax_é [N = 0
b) logaE+IogaC+10gaA— 10;0\‘5 CXA-) - j«yu,

log, 3 =m DEE, log, 6, logy 2 & m THRE.
D log 6= Ll _ g 240,24

@%qlq- 2. Z
b) logz2 = //Déi% & oo

b5 7

b u‘}z

[EICH<]



8] ENBBRANAEBVTROENAMHE L.
1

a) log, b = — b) log, b -logyc-log.a =1
g&”fmé = [0/7bA - / 4}46 &jb ¢ '[”fc&
ﬂojéﬁg ’0"0’7,6&’ fo b, ; /Q)
7 /o;ﬂ,b ﬂaf&c
- /Uo?a a-= |

(8] By = log, x COLTRORICHTEED x DEE MY TRE. 2120, 205 = 1414 £T3,

X |0, 12510078 0.25|0.35C) 0.5 0707 10| Jy| 2.0 |2828) o | §656] S0

8}

y| -3 |-25] -2 | -15} -1 | =05 0 0.5 I 1.5 2.5 3

[10] BIRZEFBLT, BEES y = log, x DTS TEIT,

1] 4D0E% y =3, y=3"% y=logyx, y=—logzx 0)’7?77&}@(7.
X ¢
=

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

232 (JAHFDBED. 12/2U, log;e2 = 0.3010 &T .
ﬂD; W2 22 Q,;n 9 =9632.

109< 235 10" < 107

Fz 2% (0H o %

[13] Mien, H2BOHSA%E 1 WBEBTDTEL, ZORED %0 EESEND, DD IAEAN
DlEShictnaEBT D&, HENEED % BIFICBHENDD. 1272 U logp3 = 0.4771 T3,

’ ;Fél-\%_,)ﬁ_j 5 ULz /\/T\g—\(? ‘i’ - 04 % /A ‘\7 ﬂﬁéﬁ?z i

o =
khgtin () s § KFRTr 3 ko nokEELEDS
n )
B
Loy ()" < Joy,(5)
/)’)(2,&73-'&;”/0) ﬂﬂja —/&;MB
(2104770 =1 )N £ = 0,477/ IR
ns 099 s e

- —0.0458 014 EF 6830




